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Land is excluded, etc. — 9912 NP INRY

OVERVIEW

The X713 cites a X012 which derives from a '?05 that the payment of %93 (by a
77?52 213 NIvw 30) does not apply to land (and wIpm NLYN o°72v).> There is
another similar type of exclusion elsewhere from a different 102 that one does not
swear regarding 121 mvwn 272y Mypip. Our Mooin discusses the need for the
exclusion here.’

mooIn asks:
= (3,13 97 NV N32) 5:111?;‘! 7992 199K 72 AYavn 4’\9’)’)32‘{‘1 1972 99NN ON)Y

And if you will say; since by a dispute concerning Yp7p one is exempt from

taking an oath -
= 23) MYV PV YO NI PNRT N PN

We can derive from this that by ¥ there is no %92 payment by 213 niyw 130 -
= "Ppnynwa Sy 13999879 AaYa NN DU N9

Since the 213 n1ww W0 does not pay 222, unless he first swore that it was stolen, as
the X713 states later in our NX>M0.

Mmoo negates a possible solution:
- Syaw3n NOYPY TIIVENT 9129109 XYY

! 11,22 (D’DDW?J) mnw, which discusses 213 NIwv 3W by a Q7 MW,
% See at end of this MdON that there can be a case of 213 NIWY 190 by vpIp.
3 For a clarification we cite the w1 of a DI MW in 1-1,20 (2°vown) NMnw, which states as follows: 177y 9% WX 197 91
NIRRT M2Y K2 OX D787 28 727 2¥2 27p3) 2337 R¥) K2 OX T.003% 07W) 2337 X¥2) DX UPRT 020 233) Y7 0092 X 92
WD W 0PI 127 X2 DORT TY AL R 0D N WK 77K 02 0¥ 9w 9y Al 9y g %Y W 9y ywip 127 92 9y v
1Y7 0% oRw? o98. The first two 09109 are discussing cases where the 1w did not steal the object (but rather
claims it was stolen); if the 211 is found, the 213 pays 293 (1 p109). Otherwise the W swears that he was not negligent
and is exempt from paying (7 2109). The last (17) 2109 is discussing where the "MW claims it was stolen, but it turns out
that the W stole it (233 NI 190), and he has to pay 753. Our X713 here derives from 'n P09 (through a %931 v191 593)
that there is no %95 21 by "1 mypap. The X3 in (2,13) »"2 derives from the first two ('T) o°p109 (through a 5"1913)
that the n"¥ is exempt even from a 7¥12w 21°17 by 121 ¥p7p if he claims it was stolen (and no 21x was found).
* This applies to wTpm Mww o>7av as well, since they are all excluded from a 7y12w with the same 5"191.
> The ’n™ 2 there derives it from a %231 1191 %93 (similar to the one mentioned here) from the P09 in (2*vown) MW
(1,25, which deals with a 017 91w (and his subsequent 7312w). See footnote # 3.
® 2,30. The W must first swear that it was stolen, and then if it was found that he stole it he pays 793. If however he
never swore that it was stolen, and it was found that the 1 stole it, he does not pay 792.
’ The question is why was it necessary for the 710 to write the ™13 (in ' 7109) to exclude Mypap from 993 since
they are already excluded from %953 because of the 3"1913 of 1 P10d which excluded them from 73n2w.
¥ The one who claimed the ¥pp2 233 nvu swore that it was stolen; seemingly he would be 2% in 993 if not for the
exclusion mentioned here.
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And we cannot answer that this exclusion here from 99> is necessary in a case
where he ‘jumped up’ and swore —

mooIN negates this answer:
= AN PPN 17 152 15 ON RIN OOYN RIT NN (x)7 97 1mp9) NP HHNNAT

For in X2p %137 P09 it is evident that one does not pay 29> for a 213 niyv WW

unless 7''72 makes him take the oath, but not if yawn yop. The question remains why we
need this exclusion for 993 if we already know that there is no 7312w 217.

Mo0IN answers:
- 7993 915 Yy yawsT NIYNY TPIVENRT MY UM

And one can say; that this exclusion from 993 for ypp is necessary in a case
where he swore on account of 1% —

moDIN proves that 7312w 7193 applies even to ¥pp (which is generally exempt from a 712w):
- 10111’5” YT 9915 DIUIN DY NPINN DNV YWIY DIUIIN PRI (x93 91 puvrTp) 1INT

As we learnt in a mwn; the assets which are guaranteed (i.e. real estate) are
bundled with the assets, etc. (which are not guaranteed) i.e. movables, to be
required to swear for them.

mooIn offers an alternate solution to the initial question:
- 2oy 905 %2) YV49 3N 29N XY NN 2% DD NN nm‘pb 19PN INN 29 1171919

However according to the conclusion of the X3 later that this word %> (from
the phrase ywo 727 93 %) is inclusive (and it should not be understood as merely a

992), since these details (727w ,7w ;70 ,7W) were not written by 29921 o> -
- 217959905 K99 10 RIN X397 XA 1ANR Y97 NaWI 9957 1Y X209

And the X3 assumes that the laws regarding %25 and 712w are the same;

? b or ‘rollover’, refers to the rule that if one is already obligated to swear, his litigant may make him swear
regarding other claims he has against him, even though those claims on their own would not obligate him to swear.
"% If one was required to swear for 72ubun (he was a ngpna 77 for instance) he is also obligated to swear for any
claim his litigant has against him regarding ¥p7p.
''X,30. See mvoIN there 7% 71"7 (and X% 7"7). See “Thinking it over’
12 See footnote 3. The X713 concludes that 7 109 which states "3 ywd 927 92 H¥ is not to be understood as a 3"1913,
but rather the word 23 is a "127 (not merely a %72) to include everything. For if the intention was that it be interpreted
as a 2", all the details of 'n P09 could have been stated in " P109 (where it says 0°23 X 03 ¥I¥7 YR WX 10° *2). This
indicates that the >™910 of 131 10> >3 (in Y P109) is valid both for 72w and %95 (and indeed 'Y P09 mentions 792) that
they do not apply to 121 ypp, for otherwise if the P10 of "1 1n° *5 refers only to 712w (but not to 753), how can the
X773 suggest that all the 0°v1d should say by 1n° 3, for then how would we exclude 21 yp7p from 95.
1 See footnote # 7. The question was why do we need an extra 3"1913 (in 'n P109) for 993; the answer is that indeed
there is no additional 2"912.
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according to this conclusion, all is understood for indeed there is only one P02
for both 5> and ny1aw that they do not apply by nmavwn o>72v mypp.

nooIN asks:
- ¥x99W 99950 ¥99PA N33 9NN ON)

And if you will say; but how is it possible to steal land?!

NDDIN answers:
- uymy »wna 1Y v

And one can says; it is possible to steal land by moving the boundary.

mooIn offers an alternate solution:
— YPIPY 93INNa ) ON

Or you may also say; if it was attached to the ground -
(3,31 97 M¥aY) pa3) NINY XY 7N 19 120 IV NNNYL 0©29) 7T NN D

Like that story where one claimed I gave you ten laden vines to watch, and the
22 claims that the grapes on five were stolen and it turned out that the "W
stole them; in which case he is exempt from 99> for these five vines.

SUMMARY

We may require two 2’109 to exempt 121 ¥pp from 7312w and 793 in a case of a
myaw 9193, The conclusion is that there is only one P05 required to exempt from
both. ¥p1p can be stolen, by 2123 nawn or fruits which are yppL 1211.

THINKING IT OVER
Mmoo offers two answers on his initial question. What are the relative merits of
each answer?"’

' This question may be regarding the 953 21 both by a 213 and a 233 N . Stealing indicates it was done in a
surreptitious manner; how is that possible by land. In addition there is a rule that n?11 7oK vpIp.
' This can be by a 213 where a neighbor moved the property line, when he is found out he need not pay 93. It can
also be discussing a case where one neighbor was charged with watching an acre of land and the owner measured it
later to be less than an acre. The "W claims that the other neighbor moved the boundary, when in fact the "W
moved the boundary; he also does not pay 293.
' This would seem to be only by a 213 nawv 110 (for a 233 would pay 293 is this situation). See wn noma.
"7 See mywri o1,
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